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Exercise 

Add the following 

HTO HTO HTO HTO HTO 
70 4 7 3 6 40 0 

+3 4 0 
3 1 4 2 3 5 

+1 4 2 +1 4 2 +5 6 0 +4 01 

846 879 874 636 
HTO HTO HTO HTO HTO 

4 0 3 7 4 1 3 2 8 4 8 9 6 3 5 
+297 16 9 +2 9 4 +2 2 2 +2 7 6 

700 1910 622 7U 9 
HTO HTO HTO HTO HTO 

677 

+26 5 
59 4 7 5 9 5 9 5 65 2 

+1 9 7 +1 7 9 +2 9 8 +25 9 

791938 993 9L 9+2 
12 
HTO HTO HTO HTO HTO 

2 3 3 76 3 1 1 1 5 6 9 68 1 
+ 6 0 8 +1 1 9 +79 9 + 3 4 3 +1 4 9 

841 2 912 30 
HTO HTO HTO HTO HTO 

2 25 
+3 7 4 

5 88 3 4 8 

+102 
3 1 7 3 6 3 

+21 5 +21 5 +2 6 0 

4505321 7 5 
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